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Symbols / Notations have their usual meanings

Group A (20 Marks)

Use separate answer script for each Group
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Group B  (20 Marks)

Attempt any two questions. Each question carries 10 marks.

1. A thief enters a house to rob it. He can carry a maximum weight of 5 kgs into his bag. There are 4
items in the house with the following weights and values. What items should he take if he cannot
divide any item into pieces? [Hint: Use DP approach to solve this 0/1 kmp sack problem ] 10

Item Weight (kg) Value (rupees)
Mirror 2 300

Silver Nugget 3 400
Painting 4 500

Vase 5 600

2. Write a short note on Longest Common Subsquence problem with its uses and solve the following
LCS problem using DP approach. 10

S = ABAZDC

T = BACBAD

3. Find a shortest path from (a) to (f) in the following network with respective distances (in kms). Is this
shortest path unique? 10
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